
Syntax,	
  cvičení	
  5 	
 

Vypracovat	
  na	
  7.11.	
  

Četba:	
  Haegeman,	
  95-­‐122	
   

Nakreslete	
  strukturu	
  následujících	
  výrazů.	
  Každé	
  slovo	
  ať	
  odpovídá	
  
terminálnímu	
  uzlu.	
  Označte	
  všechny	
  terminální	
  i	
  neterminální	
  uzly	
  
příslušnými	
  kategoriemi.	
  Zdůvodněte	
  strukturu	
  pomocí	
  konstituentových	
  
testů.	
   

	
  

1)	
  Měříme	
  emise	
  podle	
  nových	
  předpisů	
  EU	
  na	
  naší	
  nové	
  prodejně	
  	
  

2)	
  Ostříháme	
  vašeho	
  psa	
  bez	
  problémů	
  ve	
  vašem	
  domě 	
 

3)	
  všechny	
  Petrovy	
  dcery 	
 

4)	
  kočka	
  domácí	
  našeho	
  souseda	
   

5)	
  Petrův	
  zpěv	
  francouzské	
  hymny 	
 

6)	
  několik	
  našich	
  studentů	
  dějin	
  umění	
   

	
  


